Partition Numbers to 1,000

1a. Tick the statement that correctly
partitions the Base 10.

A. 300 + 80 + 5 = 356

B. 300 + 50 + 8 = 358
C.300+5+8=2358

VF

1b. Tick the statement that correctly
partitions the Base 10.

A. 200+ 9+4=294

B. 200 + 90 + 4 = 249

C. 200+ 90 +4 =294

VF

2a. Draw and complete the missing parts
of the part-whole model.

VF

2b. Draw and complete the missing parts
of the part-whole model.

VF

3a. Partition the numbers shown below.

3b. Partition the numbers shown below.

A. 208 = A. 677 =

B.511= B. 801 =

C. 690 = C.192=

D. 907 = ) D. 430 = )
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Partition Numbers to 1,000
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3a. A. 208 =200 + 8; B. 511 =500 + 10 + 1; C. 690 = 600 + 90; D. 907 = 900 + 7
3b.A. 677 =600+ 70+7;B.801=800+1;C.192=100+ 90 + 2; D. 430 = 400 + 30
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